Marking Scheme
Sec – A
1. Autosomal Dominant – Myotonic Dystrophy
Autosomal Recessive – Sickle cell anemia, Thalassemia Phenylketonuria.		                                            (1/2  +  1/2)
2. Australian Spotted Cuscus – Lemur
Tasmanian Tiger cat - Bobcat                                           (1/2  +  1/2)
3. Cyanobacteria – fixing of nitrogen – by Anabaena       (1)
4. Exonuclease : Removes nucleotides from the ends of DNA molecule
Endonuclease: Makes cut at specific position within DNA 
                                                                                                (1/2 + 1/2)
5. Discharge of pollutants from industries and houses.    (1)
                      
Sec – B
6. Incompatibility with the species and functional male gamete fails to affect fertilization with female gamete.                          (2)
7. Provides the site for the binding of amino acids, acts as a catalyst for the formation of peptide bond.                                  
ATP provides the energy for the bond formation         (1/2 + 1/2 + 1)
8. Tetanus is deadly disease requiring a quick immune response so it is preferred to inject antibody directly.                              (2)
OR
MALT – Mucosal Associated Lymphoid Tissue
AIDS – Acquired Immuno Deficiency Syndrome
CMI – Cell Mediated Immunity
NACO – National AIDS Control Organisation                  (4 x 1/2 = 2)
9. I) Streptococcus – Streptokinase, Clotbuster/dissolves clot from blood from blood vessels
II) Trichoderma polysporum – Immuno suppressive agent in organ transplantation in patients                                                 (1 + 1)

10.  Species which are introduced into the existing population from any outer population 
Example – water hyacinth
 Alien species turn invasive – loss of habitat of indegeneous species -- increase the risk of extinction of indegeneous species (1/2 x 4)

Sec – C
11.  A) Maturation of gynoecium before androeceium or vice versa.
 B) Flowers are unisexual and plants are dioecious with example
                                                                                                (1.5 + 1.5)
12. Parent – father (Iᴬi) & mother (Iᴮi)				(1  +  2)	
13.  A) Polymorphism is inherited from parents to children so it is useful for identification and paternity testing (forensic application).
B) VNTR – belongs to – satellite DNA called mini satellite, used as probes in DNA fingerprinting.				(2 + 1)
14. For diagram – (2 marks)
Name of gases (1/2), Products (1/2)
15. Morphine – Papaver somniferum – slows body function
Cocaine – Erythroxylon coca – increase energy and happiness
Marijuana – Cannabis sativa – effects cardio vascular system  
                                                      				(1+1+1)
                                          OR
      HIV life cycle from NCERT BOOK                   		(3)
16.  Bee keeping – Nature of bees, Selection of location, catching of      swarms, Management of bee hives.    	
Common species – Apis indica  				(1/2 X 4 + 1)	
17.  A) BOD reduced – effluent is passed – settling tank – bacterial flocs undergo sedimentation – the sediment is called activated sludge.
 B) Anaerobic bacteria digest bacteria and fungi – gases like methane, Hydrogen, sulphide and carbon dioxide constitute biogas 									(1.5 + 1.5)


18. Diagram and labeling from NCERT book.             
Source organism – Taq polymerase                                   (2 + 1)
19.  A) Bacillus Thuringiensis
 B) It is expelled in inactivated form from the bacterial body.
 C) Cotton Ball worm – Cry I Ac 
      Corn Borer – Cry I Ab             		              (1 + 1 + 1/2 +1/2 )
20. S - shaped Graph Explanation and labeling
Difference between S & J Shaped graphs with equation         (1 + 1 + 1)
21. Diagram and labeling of rDNA technology from NCERT Book (1.5 +1.5)
22. Difference b/w upright and inverted pyramid   (1.5)
Difference b/w food chain and food web (1.5)
Sec - D
23. I) Yeast multiply by the process of budding in favorable condition.
II) Yeast multiplies by the mode of asexual repro.
III) Fermentation
IV) Mother knows how to make use natural processes and usefulness of microbes						(1 + 1 + 1 + 1)
Sec – E
24. I) Diagram from NCERT          (3 + 2)
OR
I) Diagram AND definition from NCERT    (3 + 2)
25. Diagram from NCERT and define.     (5)
OR
 A) Enzymes – function and working from NCERT 
B) Diagram from NCERT book                            (3+2)

26. Schematic diagram from NCERT       (3)
       Difference (2)
                                           OR
Difference according to NCERT book    (5)
